Year 2 The Multiplication Symbol

Today we will
learn all about
the
multiplication
symbol



Fluency Revision

Complete these calculations; Show how you worked them out:

48 + 22 =
53 -39 =
45+ 28 =
56 — 24 =
44 + 44 =

Write a number story for 2 of the calculations.

Mrs Riley had 5 baskets of cats. There were 2 cats in each

basket. Write a repeated addition to show how many cats she
had altogether.




Equal Groups

e

There are 5 groups with the same amount in each group.
They are equal groups.

Mt orthaowrriodim <o

Equal Groups

e

5x3=15
There are 5 groups with the same amount in each group.
They are equal groups.

Mt ot haowrriodim <o

Repeated Addition

5x3=15
3+ 3 +3 + 3 + 3

Adding the same number again and again.

Mt ot haos 7 Lodm <o

[Mutiphcation

Repeated Addition

3+ 3 + 3 + 3 + 3

Adding the same number again and again.

Mt ot haowrriodim <o

Multiplication Symbol

&

We use this symbol show we are multiplying
(adding equal groups of numbers).

Mt ot haos 7 Lo <o

Multiply

To add equal groups of numbers.
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5x3=15

There are 5 lots of 3s.

o theow rLadiem o R

0|Oo|




Recap

There are 4 equal groups
There are 5 bananas in each group.

5+ 5+5+5=720

Do you rembember how we learned o
describe equal groups last weeke We count
the groups and then how many are in each
group. We can then furn this info a repeated

addition.




Your turn

Work out the total of each group of pictures.
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Add the equal groups using repeated addition.



Explore

This is the multiplication symbol

It means ‘lots of’, ‘groups of’, multiplied by and times!



Guided Practise

Let’s see how this works. Look at this picture. There are 4
lofs of 2.

2+2+2+2=38

We can swap the words ‘lot’s of’ for the multiplication symbol
and say

4x2=8



Explore

Look at these groups. How could you describe them?

O
O

O
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There are

equal groups with

There are two

S.

INn each group.



Explore

Look at these groups. How could you describe them?

O O
OO OO 3+3= 6

There are 2 equal groups with 3 in each group.

We could use the multiplication
There are two 3s. symbol to say this in a more

efficient way.



Explore

Look at these groups. How could you describe them?

O O There are 2 equal groups.
® | © /
O 2 st =6
There are two 3s. There are 3 in each group.

3+3=56



Guided Practise

Look at these groups. How could you describe them®e
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How many groups¢ How many are in this group?
Write it as a repeated addifion.
Re write the addition using the multiplication symbol




Guided Practise

Look at these groups. How could you describe them®e

& O X
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There are equal groups with INn each group.

There are two S.

+ =20 X =20




Guided Practise

Look at these groups. How could you describe them®e
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There are 2 equal groups with 10 in each group.

There are two 10s.

10+ 10=20 2x10=20



Your Turn

Can you match the mul’riplica’rion to the picture?

5Io’rsof2
5x2

6 Iois of 10
6x10

2Ioisof5
5x2

s2fdfs




Answers

Can you mo’rch the multiplication to the picturee

6 Iots of 10
6x10

5Iofsof2
5x2

3 lots of 5
Or
3x5

s2fdfs




Guided Practise

Let's look at this fable. Watch the lesson video to watch

Mrs Riley’s explanation.

Addition Multiplication Story
6+6+6 3X6 There are 3 equal
N groups with 6 each
\~"/ O+3+5+35+5 SX S There are 5 equal
groups with 5 each
10+ 10+ 10+ 10 4x10 There are 4 equal

groups with 10
each




Guided Practise

Can you complete this tfable? You could draw pictures to help

yOu.
Addition Multiplication
2+ 2
2X3
3+3+3
3x4

S+5+5




Guided Practise

Can you complete this tfable? You could draw pictures to help

yOu.
Addition Multiplication
2+ 2 2 x2
3+3 2X3
3+3+3 3 x3
4+4+4 3x4
5+5+5 3x5




Cut out the cards and match the picture to its addition and multiplication number sentences.
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Problem Solving

Look at the chocolate chips on the cookies.

Can you write
the repeated
addition and
multiplicatione




Problem Solving

Look at the chocolate chips on the cookies.

| have 6 groups
of 5.
5+5+5+5+5+5 =
30
6x5=30




Problem Solving

What's the greatest amounte Talk to your grown up
about how to work this out.

5lots of 3

6+ 6 4 x5



Guided Practice

To find the greatest amount, we need to work out
how much is in each group.

/ 5 lots of 3

3+3+3+3+3= 15 5 x3 =15

é&16+6 4x5xs

b+6=12 2x6=12 5+5+5+5=20 4 x5 =20

10+10=20 2x 10 =20



Am | correcte
Explain how you know.

Reasoning

<[ 3x4=4+4+4

\

J




Reasoning

3xXx4=4+4+4

Am | correcte
Explain how you know.

| am correct as:
3x4=12
4+4+4=12



N

Independent Practice 1

1 Complete the table below.

Complete the sentences to describe the equal groups.

o O © 0O © O * ® =15
O o @) Story Draw it Addition Multiplication
© O © O QO © | ——x___ =15
There are equal groups with in each group. There are IO ur
There are three s, equ.a.l gro U.pS
with 2 in each
+ + + =8
O @ @ @ x =8
There are equal groups with in each group. There are three
There are four s. eq,ua'l groups
with 5 in each
Q00000000000 + + =30 group.
@ 0|0 00 o 20
000000000000 ——*——-~

There are equal groups with in each group.

There are three s. @ 5+45+5+5+5 = 5x5

Complete the table below.

Is Tam correct? Explain how you know.
Addition Multiplication

5+5+5+5

3x2

10+10+10+10+ 10

bx5




1 Use <, > or = to make the statements correct.

4 .
a x3 3+3+3+3 b 5x5 5+5+5 Find the odd one out.

c S5x4 b+b+4+4 d 3x2 3+3+3

Find 3 possible solutions to each of
these calculations.

2 Complete the statement below to make it correct.

3+3+3+3 > X
X =10

3 The total is 20, what could the addition and multiplication number sentences be?
List your answers below.

Addition: Multiplication:

X =10+10+10

4 Complete the story for the multiplication: 4 x 5.
Draw a picture to show this.

X <2+2+2+2




If you're finding things tricky....

Complete the sentences to describe the equal groups.

=8
@ @ @ @ *
® o @ o . x____ =28
There are equal groups with in each group.
There are two 5.
® O O f—t—3
O O O p =6
There are equal groups with in each group.
There are three s.
ks =20
0000 00000 — —
Q0000 00O0OOO| ___ x_ =20
There are equal groups with in each group.
There are two S.
@) o) @) F e Faaea =
© O © O © O | x__ =9
There are equal groups with in each group.

There are three

S.

1 Complete the table below. The first one has been completed for you.

Addition Multiplication
3+3 2x3
4x2
5x 10
10+10+ 10
24+24+2+2+2+2




Jerry

Exit task — Dong Nao Jin

Who has the most bananas@e

| have 8 | have 5
bunches of 2 bunches of 3
bananas. bananas.

p
Ranijit
Prove that you are correct by writing -

each as a multiplication.






Fluency Answers

Complete these calculations; Show
how you worked them out:

48+22=7/0
53-39 =14
45+ 28 =73
56 — 24 =32
44 + 44 =88

Mrs Riley had 5 baskets of cats. There
were 2 cats in each basket. Write a
repeated addition to show how many
cats she had altogether. 2+2+2+2 +2 =
10

4+4+4=12

24212=6

RaT

bouu
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3=3+3+3=12

10+10+10+10 = 40



5+5+5+5+5+5
+5+5+5+5

| P [ I P P p—— |

3x4=4+4+4

| am correct as:
3x4=12
4+4+4=12
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—
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Complete the sentences to describe the equal groups.

oo (00 00| >+ > -
o @ o
© 0| OO0 OO0 2 _x_3 =15
There are ___3 __ equal groups with __5___in each group.
There are three ___5 s
e| o o o 7t
@ ® @ ® 2 -8
There are __“4 __ equal groups with __2___in each group.
There are four __2__s.
000000000000 ° + 12 + 10 -3
e 0/l ©0/@ 0| ., .
000000000000 * -
There are ___3___ equal groups with __'0 __in each group.
There are three __ 10 s,
Complete the table below.
Addition Multiplication
5+5+5+5 4x5
24242 3x2
10+10+10+10+ 10 5x10
S+5+5+5+5+5 bx5




1 Complete the table below.

Is Tam correct? Explain your answer.

Fengiscorrectos 5+5+5+5+=25and 5 x5 = 25.

Story Draw it Addition Multiplication
There are four Aret drrma how f
ny drawing to show four
e_q:azl Smupsh groups with 2 in each 24+24+2+42 4 x 2
wit grot:'tpeac group.
There are three A drat " h
ny drawing to show three
ea:a&_l’ groupsh groups with 5 in each 5+5+5 3x5
wit grot:\peac group.
@ 5+5+5+5+5 = 5x5




Complete the sentences to describe the equal groups.

4 +_4 =8
® @O @ O
® o ® o 2 x_ 4 =8
There are ___ 2 equal groups with __ 4 in each group.

There aretwo ___ 4 s

O O O
O O O 3 x 2 =6

There are 3 equal groups with 2 in each group.

There are three 2 s

10 + 10 = 20
0000|0000 — " —
Q0000 | 00O0OO®| _2 x_10 =20

There are 2 equal groups with __10 __ in each group.
There are two ___10__s.
3 3 3 =9
O (@) (@) * *
O O o 0O © O 3 x_3 =9
There are ___ 3 equal groups with ___3___ in each group.

There are three ___3 s

Complete the table below. The first one has been completed for you.

Addition Multiplication
3+3 2x3
242+2+2 4x2
10+10+10+ 10+ 10 5x10
10+ 10+ 10 3x10
2+2+42+2+2+2 bx2




1 Use <, > or = to make the statements correct.

a 4x3 = | 3+3+3+3

c S5x4 > | 4+4+44+4

b 5x5

> | 5+5+5

d 3x2

< | 3+3+3

2 Complete the statement below to make it correct.

3+3+3+3 >

Any multiplication
calculation that

provides an answer
of less than 12

3 Thetotal is 20, what could the addition and multiplication number sentences be?

List your answers below.

All the statements have the answer 20 except 4 + 4 + § so that is the

odd one out,

i:
1 &
R

Addition:

5454545
10+ 10
242424+2+24242+2+24+2

Multiplication:

4 x5
2x10
10x2

4 Complete the story for the multiplication: 4 x 5.

Draw a picture to show this.

Any sensible story to show 4 lots of 5.

RAlk
RAlK

Example drawing:

Possible answers
first caleulation:
I x)o =)o
2xS=\0
Sx2=100
lox) =)o

second calculation:

| x 30
Sxé

1o x3

third caleulation
Ix2
2x2
2x3
2xl

The wmultiplication tables children
are starting to learn (two, five and
ten) are the facts used here with
those numbers written first in the

calculations.




Answers

Who has the most bananas@e

| have 8 | have 5
bunches of 2 bunches of 3
bananas. bananas.
p
‘Jerry Ranjit
Jerry has the most bananas )
8x2=16 )
, (2+2+2+2+2+2+2+2=16) ’
y 5x3=15

(3+3+3+3+3=15)



